	
	LCI – average annual growth rate
	LCS average annual growth rate
	Difference between the total change in LCI - LCS

	NACE (Rev. 2)
	2013
	2014
	2015
	2016
	2013-2016
	2013-2016

	[bookmark: _GoBack]B-N
	1,5
	1,8
	1,8
	2,0
	1,0
	3,0

	B-S
	1,1
	1,6
	1,7
	2,0
	1,1
	2,0

	B-F
	1,4
	1,8
	1,9
	2,8
	1,8
	0,8

	B-E
	2,0
	1,9
	1,8
	2,9
	1,9
	0,9

	C
	1,8
	2,0
	1,7
	2,8
	2,4
	-1,3

	D
	3,0
	2,1
	3,1
	4,2
	3,7
	-2,6

	F
	-0,6
	1,2
	2,6
	2,4
	1,5
	-0,3

	G
	0,6
	1,4
	1,6
	1,4
	0,7
	2,2

	H
	1,2
	1,8
	1,2
	1,8
	0,8
	2,7

	I
	0,5
	1,5
	0,5
	1,6
	0,1
	3,6

	J
	1,0
	0,5
	2,2
	1,3
	1,4
	-0,5

	K
	2,4
	2,2
	1,8
	2,9
	1,3
	4,0

	L
	3
	3
	2,3
	0,7
	1,4
	3,5

	M
	3
	2,5
	3,1
	1,4
	1,2
	5,1

	N
	3
	1,2
	1,6
	4
	0,3
	8,5
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